H
S
o

o(d @) (rad)
a(d cot(d))

2 il
IS E T
14 [ . 4 TR | R R AR 14 1:
- I Bl & Tl Freeeees 0'8:_ """"""""""""
08: i (LW ; ] 0.6f~------ bl | SRR 4 ¢ SR 0 N { SRR
=3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—a— DQM_CKF_TTbar
—e— DQM_mkKFit_TTbarPU-ncp
—— DQM_mkFit_TTbarPU-newTr4
= = 1
= 1]
2 S
> ;\N
=]
) o
3 [¢]

107}

Ratio
=

4 ¥ 1
AT E - 1-Fal----- - LEEEEEEE

0 1 2 3 -3 -2 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0P /P,

,_.
<
L

Ratio

0.

()]

232 10 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


